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Question: 1

As an implementation consultant, you are asked to define a customer-specific template for all
guotabatch process outputs.

Which tool would you use to customize quota batch process output templates? (Choose the
bestanswer.)

Oracle Reports

Oracle Bl Publisher

Oracle Essbase Server

Oracle Bl Answers

Oracle XML Developer's Kit (XDK)

moow2

Answer: B

Question: 2

Identify two criteria that must be met for salespeople to submit their forecasts. (Choose two.)

territory freeze date past forecast due date
forecast before forecast due date

forecast past forecast due date

forecast past territory freeze date

moow»

forecast before territory freeze date

Answer: B, D

Question: 3

What attribute of a subledger journal entry is NOT transferred to GL?

Accounting class
Accounting lines
Accounted amounts
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Supporting references

Answer: B

Question: 4

The marketing analyst launched two promotions and is analyzing the responses. The source codes of
several treatments are identical. What happened?

A. This is normal behavior. Source Wr@&%gm%Mation of campaign, stage instance,
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and audience.
B. Source codes are defined by the end user in the Manage Multistage Campaign task.
C. This is normal behavior. Source codes are based on the combination of stage instance, audience and

treatment.
D. Source codes in the Review Marketing Source Codes task were customized.

Answer: A
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